1. ¥sk s (1)

ml LA/ AR RIS fEHE L d

Edp g 105&11 % 17p (B8w)
EE B AR HEREHHERFI02% 3
7 H P




% 1) 4

BAER%Z R & 105 FAERERER KM T E
BB RAZ
(EBRERETERRBRTH)

t SiES

REBMRAERKERE R

IR BAE RIKAE AR SAC A 28 B2 R R B
SR 105411 A 178 Zim 13:30-17;:30,
W BCEH302 #E
RENE: HEERETE

E $iE-

#Y G

Wl v 3 5 T
WMEF| € v f’??%@ f
M7 |5 nk Phods FIEY

/

A e | £5E [ERD

;" 5 5 e ]——4 A
gy |[ER%E |4 ri
P o % ey Y
fr\ B 5 G %55 | ﬂj“‘ﬂflw
Tt Wy % %
£ U - 17 7,
‘D%% 1&2«&%\;%\ /{ﬁ/ﬁ\lnﬁ




REA%LR§ 1055 SRR IADP

MEABEBRB LN
By P B L 0 T BB R T
. . FEW 6
=i G TR ) A 30
N v F &
FEEE NI B EX PN ) 29
A F 105 411 B 17 H 2
: L o s T A HHf R 96.7%
f[ﬁﬁ ﬁﬁ%jﬁ%*ﬁ$ﬂ‘*}(@@&%*§ (B/A)*].OO% * o
302 #=E
IEH s HEL HEL R IEH = e
Eh=3 - FHE | AREE = REE Btk
1. REEFHNERE]? 21 8 0 0 0 0
100%
Haorkk 72.4% | 27.6% 0% 0% 0% 0%
2. REEEENR R
EIEERTAYFR2ERE T 19 10 0 0 0 0
JRE]?
100%
HarEb 65.5% | 34.5% 0% 0% 0% 0%
3. WL XIEENNE 2 B
ﬁi‘ s B 22 7 0 0 0 0
== 100%
HarEb 75.9% | 24.1% 0% 0% 0% 0%
4. EICEB NG
. o IREHEE | 8 0 0 0 0
CRX? 100%
(o]
Harkb 72.4% | 27.6% 0% 0% 0% %
5 AR EHEEAE R
¥1$ N7 @JE%W 91 3 0 0 0 0
Z?
100%
Harkb 72.4% | 27.6% 0% 0% 0% %
SHEEE RS 100%




R H|E2 HZENLHE | BEREAE
£ H
6. IEMBRISHIAIE | At =il 20 AEAS R IR .
FEHE? 0 1 28 0 0 0
Hir 4=
e LF
4111 QA EL B I EEEW | ey
e wWrER H3F ]
7. IEATGEENA [ A
M 7 : 1 12 0
HA
(1) FEAEDIFERSEIZR
(1)
(2) HwmEEATHER

8. HREEMAYEZR:

(3)
(4)

U GIGEE STt e

HEESE

9. HIF(EREIIHTE

e,
Bk

(1)
(2)

%R E FaR
7 SR SRR

10. HfFERAEAYHE

NS
===,
Ak

.
i
ZARY)




